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(2.0

imaer- Remove ["Global® x"]
I = Integrate[u/Log[u], u]
I1 =I0 /. u->20
I2 = I0 /. u- umax

oupor- ExpIntegralEdi[2 Log[u]]
ouid1- @

ouszi- ExpIntegralEdi[2 Log[umax] ]

mesp- (* Parameters =)
{Z, WA, p, hbw} = {13, 27+ Ug /Umol, 2.7 xUg /Ucm"3, 166 + UeV}
Umol = 6.02x/23
Ne = Zxp /MAL
ee = 4.8+"-10 » Sqrt[Ug »Ucm"3 /Us 2]
K=hbw"2/ (8%PixNexeerd)
K=K // FullSimplify
UeV = (1.6%"-19)  (1.0%"7 »Ug+Ucm”2 /Us~2)
K =K // FullSimplify
2.7Ug 2.656x1087 Ucm? Ug

b
Ucm? Us?

oups- {13, 4.48505 x 10723 Ug,

J

outp7r 6.02 x 1023

7.826x 1623

Ucm®

Ucm3 U
ougs- 4.8 x 10710 -
Us?
ouwitasi- 6.75634 x 1078 Ucm
outtoy- 6.75634 x 1078 Ucm

1.6x 10712 Ucm? Ug

Us?

Out102}

ouioa- 6.75634 x 1078 Ucm

104l & = 2 % (1000 * UeV/hbw)
R[E 1T =K*I2 /. {umax -s>ax&} (x» € = WO in KeV =x)
Print["For We 10 keV, calculated R = ", R[10]]
Print["For WO = 100 keV, calculated R = ", R[100]]
Plot[R[£] /Ucm, {&, 10, 100},
Frame » True, FrameLabel » {"Wy [keV]", "R (Wp) [cm]"}]

outi104)- 12 .0482

ouyios 6.75634 x 1078 Ucm ExpIntegralEdi[2 Log[12.0482 &] ]



2 | Exercise992.nb

For WO = 10 keV, calculated R = 0.000116628 Ucm

For WO = 100 keV, calculated R = 0.00748974 Ucm

0.006 [

0.004

R(Wo) [em]

Out{108]=

0.002 |- R

0.000 |-

20 40 60 80 100
Wo [keV]
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